Algebra | Name \_CC\l

Review: Non-Linear, Non-Quadratic Function Date \ Period

For #1 — 6, identify each function as linear, quadratic or exponential:
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7. Answer the following equations using the exponential function ; f(X)ZS-(_T.),
2
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A. Determine the y-intercept of your graph. D 6 P \‘

B. Determine the value of x where f(x) = 0. D N . E . \Lq

C. Is f(x) an increasing or decreasing function? dQU( Q,& S\ n@ l
D. What is the domain of the function? \R. The range? \l >O
(above  §.-axis)

8. In 2009 the Johnson family bought a boat for $4000. The boat depreciates at a rate of 7% annually. Ir 2012 a

person offers to buy the boat for $3000. This depreciation is represented by the equation(p = 4000(.93)" .
Should the Johnson family sell the boat? Explain your answer.
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9. According to one analyst, oveonth period, the number of blogs in existence doubled about every 6
months. The analyst estimated“thatttiere were about 600,000 blogs at the beginning of the period.

A. Which of the following is the function rule for B. How many blogs were there at the end of the
this problem? . . '2 period? \\ m H'\ \
Xy =600,000(%) MU P\\e‘(' a. 660,000 W?\) 2 (Y\\AES PN
. - b. 1,200,000
y =600,000(2)" \r\ﬂ\' = 4000 00 )
x y = 600,000(3)" d. 16,200,000 (,\% i
Xy =600,000(6)" \{_' 00,000 (2)3

10. The graph of an exponential growth function below shows the value of a business over time. Which of the
following equations models the value v (in dollars) of the business over time f (in years)?
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11. Write an equation of variation for y,= 0.225 12. The mass of a substance variegdirectly ? ' \{z
when x,= 20, where y varies mversely as x. the volume of the substance. The volume of
X 400 Kilograms of the substance is 80 liters.
faud Y % What is the volume, in liters, of 3.2 kilograms of
‘%\__ this substance?
22 MASS VOLWME
zo(o ?.26) = 4.% @, .
M= fxii NT X 32(%0)400\!\ .
X i 2.5 ITers
=250
13. Which of the following equations shows a relationship in which y is inversely proportional to x? “
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For #14 — 17, The type of bacteria that causes Norovirus has a very high exponential growth rate at
80% every hour. If a sample at Richardson High School began with 10 bacteria, use the table below to
answer the following questions. #RHSplague

—— phmomtegacere 1 y-interctpt
1 18 1. = _I..B- =1.9%
2 324 L% b= -5
i 182:3%&3 x9 muihplier

14. What is the function that represent
situation?

16. How many bacteria will there be in 1 day?
(Round to the nearest whole number) X ¥ 2‘-\-

a= 10 y=10(\-8)

b=\ 122925 2% acteria

15. How many bacteria will there be in 5 hours? 17.  If there are 20,000 bacteria present, about
(Round to the nearest whole number) how long has the bacteria been growing?
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18. A theater company plans to hire people to build a stage set. The work time t (in hours per person)
varies inversely with the number p of people hired. The company estimates that 25 people working
for 300 hours each can complete the job. Find the work time per person if the company hires 30
people.
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19. Which of the following tables indicates that x and y vary directly? - 3
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